W% o
2 se|Cem | Co wp (eps) | medh's T

AL - "~ Q.P. Code : 540702
e

Total Marks:80
Duration: 3Hrs

NB 1. Question No.l is compulsory
2. Attemnpt any three from the remaining six questions
3. Figures to the right indicate full marks

l .
Qla If the Laplace Transform of ¢~ J 1 ¢os 2u du ' , - {20}
¢ .
b Prove that f(z)=sinhz i3 analytic and find i1s derivative

¢ Obiain Half range Sine Series for f(x)=x+1in (0,::‘)

d Find a unit vector normal to the surface x* y+2xz=4 at (2,-—2.3)

Q2 aProvethat F=(2xp? 4y )i+(2elyv a4 2=y jm(2p2 2w pdk isirrotational.

~ Find Scalar Potential for F '
I6}

b Find the inverse Laplace Transform using Convolution theorem
(s~ 1)? 16}
(s2 25 +5)?
L 7x;0<xgl '
¢. Find Fourier Series of = ’ : '
ind Fourier Series of . f{x) { 2(2x) 1< xE2 | i8]
Q3 a Find the Analytic function f(2)=u+iv if v= 5 +coshxcos y ' [6]
x“+y
~18z+26)
b Find Inverse Z transform of ( 3< 4 6
' (z-2fz-3)z- 4)’ ]z]< ' 141
- 2, : _ ‘
¢ Solve the Differential Equation %w%m + 2%+2 y=3sint , yW(0)=0, »'(0) =0 using Laplace Transform [81
i ‘ o
Q4 4 Find the Orthogonal Trajectory of 3x7 y-y =k [6]
b Find the Z-transform of 2% sinh 3K, K20 ‘ ‘ [6} °
) 1o lx]<t
¢ Express the function f{x) = 0 l I as Fourier Integral. Hence evaluate I___..._ cos (itx)di (8]
v X1
/ P C O( 4 ‘
/ /’” 6‘\ 61AC8839263EAOBEC2531FTFDS57371D TURN OVER
/ (s
] . & '
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Q.P. Code : 540702

2 .
Q5 aEvaluate using Stoke ’s theoremj(Zx - Y)dx - yztdy - y’zd;_: where Cis the circle P 'y2 =
) .
corresponding to the sphere Jc2 + y2 + z2 =1 above the XY plane fel
2z+3 . 2 2 o - 4
b Show that ws——— maps the circle x* + y© ~dx =0 into straight line 4u+3=0 (6}
. Y \ el 531 6 :
¢ Find Inverse Laplace Transform 7) e tanh ™ 5 ii) - 8
- ‘ ' (25 +1) | /
Q6 a Find the Laplace transform of f{1) = %’- 0513, f{t+3)= f(1) - 6]
b Find Complex Form of Fourier Series for sin{eox) ;(-- 7:,7:) , & is not an integer : _ [6}
N 2 '

¢ Verify Green’s theorm for I(Ex ~ 3" )edx + (x* + ¥ )dy where C is the boundary of the surface

enclosed by lines x=0,y=0,x=2,y=2 ’ : 8]
RRwhhkkhhhdhbhhhibdr

61AC8839263EA0EEC2531FTFD557371D



Time:~3 Hrs

N.B.: 1. Question ONE is compulsory

3. Draw neat and clean diagrams

4. Assume suitable data if required;’

5
5
[TURN OVER]
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parameters for the FET.

: 'f»n':afjsv
2 Hp e TR

B. List down various para

what is the significance

Q.3

A. With neat diagrafh exf

10
10

w the output spectrum 10

[TURN OVER]
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.
S
thod:
R3]
NS
o

\ Pl

;.-\.

B. Mention important specifications of ADC and D' Cr qut

OF

(\

.,

AN
.

I

:...V’ r;

C. Explain the necessity and signifi fcance of modufaﬁoa i Q

cat;on

current characteristics.

A6T70F26CF24EE77TE6B958CAE1348C4E







"T1123/T1498

(3 Hours)

N.B. 1) Question number 1 is compulsory.
| 2) Attempt any 3 questions from the remazr%

3} Each question carries 20 marks.
Within a question, each sub-questi i

10
05

05

05
05
10

(TURN OVER)

092EFEE 177DD96EBE279CF D3C515302A. .




Write short note on (any four):-
a) Ring Counter
b) State table . ‘
¢) 2-bit Magmtude comparato“ &
d) 3to8linedecoder

092EF8E177DDIGEBE279CFD3C515302A



T1123/T1499 DISCRETE STRUCTURE o - :
Comp | Y] Brss Q. P. i itigi

' [Motal Marks; 80]

(3 Hours)

N.B. (1) Questzon No 1 is compulsory _
(2) Solve any three question out of remaining five que/'

(3) Assumption made should be clearly stated ‘

(4) Figure to the right indicates full marks

1. (a) Prove using Mathematical Induction
2+5+8+ +(3n~1)-~n(3n~!~ 1)]2~

Al={a, b c d}
A?;—{a,cle g}

08

08

04
08
e(001)=00110
e(011)=01111
e(101)=10101

e(111)=11000
TURN OVER
F97BFECF494AEZE18F297D(C34223C011



T1123/T1499 DISCRETE STRUCTURE
2

function.
1) 11001 ii) 01010 iii) 00111

" :aﬁq_z;péth in graph shown in (b)

u b

TURN OVER
FOTBFBCF494AE2E18F297DC34223C01 1




T1123/T1499 DISCRETE STRUCTURE
3

Out of a total of 50 students:
30 know Pascal,

18 know Fortran,

26 know COBOL,

9 know both Pascal and Fortran,
16 know both Pascal and COBOL,
& know both Fortran and COBOL,:

TURN OVER

F9TBFSCF494AE2E18F297DC34223C011



T1123/T1499 DISCRETE STRUCTURE o
4

100
‘(b)LetH= {011
111
100
010
001

: 4o 4&@\5@‘%** ok

FOTBFECT494AE2E18F297DC34223C01 1




@ Hous

NB.: (1)

Subject to

~ Q\‘.M'":r"\
[ o PR »

Pty )ﬁ\;(»)mhl &

1 pL=100 ohins an

PR m

resis(or&wx have resxsfahce@ t

Questxons no. 1 is compulsory

2

3

0.1

2k

4B21DEFBID6DC36590CFFRIBET91445B

s eiipenegt:e that the resistance of resistors he produces 8

[ TURN OVER |



2

(b) Solve the following L.PP. by simplex method
Maximise Z=3x,+2x,
Subjectto  x¥x,<4

XX, <2
X, X, >0

2—1
+5246°

(¢) Expand f(z)=

RO
o S0

et S :_\‘;:\
4. (a) Find the first two moments abou&th& gngzrwf PexSsofi\diét 1By

23
'\.

mean and variance.

P RA J\

‘ha '\a»tne,an

T et v\{*

4E21DEFBID6DC36590CFF89B87914458

ﬁiapnodﬂcuoh,ﬁqéce“ss Is beheved to result in betier product
6\ f 01'42,500 ks, Test at 5% level of

[ TURN OVER }



digits was as follows.

Digit |01 (2({3]4
Frequency |28 | 29 {33

Minimise =~ Z=6x,+x,
Subjectto  2x,+%,>3

(c) (O

RS

uggesti

4E2 1 DEFBOD6DC36590CFEROBR791445B






[Time: Three Hours)

Please check whether you have got the rightﬂ,d‘ﬁg
N.B: Subject AOA CSC 402 CBSGS R-12 SE comp s&;\aiii‘l'c
1. Q.11s compuisory. e
2. Solve any three from Remaining

Q.1 . Answer any four
a) erte an algonthm for finding maximum andmin mﬂm nimb

10
10

10

10

10
10

i0

10

{P.T.0)

AGTT0F26CF24BETTEGBI5S8CAELFI0F 58



Q.6

a) Problem of multaplymg Long Ltegerk

4

b} Strassen’s matrix multlpilcatmﬁ“ g
o match

A6’770F26CF24EE77E€B95804EIFQOF.S_S




N.B. : {1} Question Number 1 is compulsory

1.

Time: 3 Hours

(2) Solve any three question from the remaining question
(3) Make suitable assumptions if needed :

(a) Construct an ER diagram for a hospital with & sef:
medical doctors. Associated with each pate
examination conducted. R

(b)

decomposition
{¢) List four significant diffetengg§ib'
database management syste

2. {(a) Whatisa deadiock? Howi}s 10
prevention scheme. o>

10

16

‘ 51;ges of products which are purchased by 10
hiema for this operation is given as -

: t‘f)mpaﬁ&{campai}y\_ﬁgpde,companymname,director#,director_‘name, {product
ist# " customer_name, address}}) where { } represents a

Lt
QUPS:

ups:-and company_code, dirctor# and cust# contains unique
Glize this relation to third normal form.

o

TURN OVER

092EF8E177DDISEBE279CFD3C5TDS947



Explain following rélational algebra opsrétgons with examp
(i)  setintersection

(i) Generalized projection
(iii) Natural Join
(iv) Aggregation operatér

4 (b) Explain nested loop join and block nestea lodp
processing.

Explain T1mestamp ordering protqcai
b ’\.

’
5

0921?,?8}3177DD96EBE279CFD3C57D5947_ o o




T1124/TH046 THEORETICAL COMPUTER SCIENCE

Com puter] Sem]f/ CLBQ&

[Time: Three Hours]

Q.P. Code \0988‘-

N.B: Question No. 1 is compulsory. ;
Attempt any three out of remaining five:
Assumptions made should be clearly state

Figures to the right indicate full mariis‘

Uik Wb e

Q.1 a) Differentiate between NFA and DFA
" b} Explain Chomsky Hierarchy

¢) Explain Rice's Theorem
d) Explain Pumping Lemma for CF(}«,

Q.2  a) Design FA to check divisibility by:3 to bina i 10
b) Using Pumping Lemma prev atfollowinglanguage gm L+t | 10
m>0}
10
10
10
10
g strings endmg with 100 over alphabet (0,1). 10
véliformedness of parenthesis. 10

20







Ti124/T1047 COMPUTER GRAPHICS

sEMkﬂz'mwﬂP(CBsQ@

Duration: 3 Hours

N.B.: (1) Question No. 1 is compulsory.
(2) Attempt any three of remaining five questions.

i. {a)
(b)
(©)

example.

Explain -W (10

[10]
(10]

[10]
(103

{20]

9780C43F3C29912FC2827BC3 1 74411 5F
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(3 Hours)

N.B: (1) Question no 1 is compuisory
(2) Attempt any three of remaining, g
(3) Make suitable assumptions wherever necessary and state then.

S

Q1 Attempt any 4
A)

B)
<)
D)  What is hidden and exposed termm'

problems.
E)y  What is ap antennas. Exp!airyd fi

Q. A
B)
Q3. A) 10
B) 10
Q4. A) 10
B) 10
10
10
20

092EFRE177DDIGEBEZ79CFD3C5C25D76






VTI- tomp

T2826/T0869 SOFTWARE ENGINEERING

(s

{Time: 3 Hours]

Please check whether you have got the right quesj.,_

N.B; 1. Question No.1ls compuisory
2. Attempt any three question out of remamiag fsv

Q1 Develop a Software Requlrement Specification (SRS) for deve
system. Create an SRS that contains the following:
1. Objective and Scope
2. Product perspective ‘
3. Functional requirements (at least 3)
4. Non-functional requirements

A

§_p g §Iﬂz‘ft‘5\€;

Q.2 2) List the various metrics used for software mg urgmen ”Ex‘plal' 10
detail, e o

b) Explain the various fundamental softw ! 10

Q.3 a) Explainthe change control and vers&om:ofg X ] 10

isks-?’Eprain b 10

Q.4 a) What Is Agility In context of snftware ngm@gﬁ‘mg’? ithsuf abledia 10
{xp). ;

b) Explain basis path testi 10

i0

10

Q.6 20

Ad4F3662AC5TFTDIREADSYESB39A4878C
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Comp) LomL| cass|S pec

(3 Hours)

N.B.: (1) Question No. 1 is compulsory,
(2) Attempt any three questions out of remaining five

QL. (2) What is system software & application soﬁware"
(b) Explain different types of text editor,
{¢) Explain left recursion with an example
(d) Write a note on: Input buffering scheme of 19:x C

Q2. (a) With reference to assembler, explain the; foﬂowm tables v

(i) POT (iiy MOT (i) ST v
(b) Explain the different code optxmxzatww”téchmq 5 i mpfiqf 0)
. L i
Q3. (a) Draw flowchart and explain Mth“dajab_ ase the 3 ozkm p (10)
(b) Explain various functions of l@acf“ - Als0 : (10)
Absolute loader, '
Q4. (a) Compare LR(0),LR(1) atdE ALK, parset: - S (10)
Construct LR(0) parser:tablefor following srathivier
S-> (L) {id
L->SLS
Variables: §°
Terminals:
(10)
(10)
(10)
(10)
(10)

8198A654033ASDDDI0I38F11DS7IBRID






S %ﬂ: / Comy , T2825/T0500 STRUCTURED AND OBJECT ORIENTED ANALYSIS & DESIGN M.dy 207
. d i v

Q.P. Code : 581400

, ' (3 HOURS) | [Total Marks: 80]

NB.:" (1) Question no. 3 is compulsory,
(2) Attempt any three questions from remaining.
(3) Assume suital:fle data wherever necessary,

QL Answerthe following: [20]
a) Explain the representation of Zachman Framework for an Enterprise.
b) Describe different phases of SDLC.

Q2. a) Explain purpose of use case diagram with exaimple, [10}

b) Draw two levels of DFD for Stock/Inventory Management System, The items which are
purchased from the various dealers and suppliers are recorded into the database. The
software system provides facilities for adding new item, removing an ltem, npdating the
stock, purchasing and total stock, - ' [10]

Q3 &) You are required to present an outline design of a system that will be used by doctors at a
medical practice to keep basic patient records. The system should record each consultation
between a doctor and patient, any illness diagnosed, and any drugs prescribed to the patient,
At regular intervals, an auditor will use the system to check whether the sama dug Is being
prescribed repeatedly to a particular patient. Draw UML Class diagrar for System to support

this functionality. [10}

b) Explain Cohesion and coupling in short, : . [10]
Q4 ) A project requires an initial investment of Rs, 2,25,000 and js expected to generate the

following net cash inflows: .

Year i 2 : 3 4

Cash inflow (Rs.) 95,000 £0,000 60,000 55,000

Compute net present value of Project if the minimum desired rate of return is 129, [10]

b) Draw Interaction/Communication diagram for new course registration at college, [10]
Q5  a) Explain the need of deployment diagram. Draw a deployment diagram to model fully

distributed systems, [10]

b) Draw a state diagram for online shopping system where a Customer can browse through
the product catalog and add the items to shopping cart. He will require to login for purchase

with different payment options and provided to give feedback, (10}
Q6  Write short niotes on:  (Any two) ' {203
a) Application Architecture

b) Prineiples of user interface (UT) design
¢) Software requirements specification (SRS)
d) Design pattemn

F9’J’BF8CF494AEZEI8F297DC34201E4CB
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COME — Ser Mo

T2825 / TO498 MICROPROCESSOR

Q.P. Code 3
( 3 Hours ) i

N.B.: (1) Questlon No.1 is compulsory.
(2) Answer any four questions from Q.N
(3) -Figures to the right indicate full m ¥k
(4) Assume suitable data if requnred

1. (8) What is memory segmentat;on‘? State:at
(b) What is GDT? Explain structure, ef ]

(c) Explain integer pipeline of Peﬁmgm 3
(d) Briefly explain string mstraqjg’“ 5
2. (a) 10
(®) 10
3. (a) ExplainD 10

(b) Explain,: :ééhanism implemented 10

10

10

10
10

1321695B20842B155E053B1 185513FFF







T2825/T0499 COMPUTER NETWORKS

CoMp .

>hel suitahl ﬁample explain stiding window protocol with  1g
i‘ejse 6m1izira s performance to sliding window with Go-back-n

e ."S;;P\ﬁfﬁmtable diagram TCP connection management and 19

TURN OVER

ASEQAS9DBFG71BCTS2F7DE786E9113D2



T2825/T0499 COMPUTER NETWORKS

5. (a) Explain i-persmtent p—pemlstent and O-persmt t@sMA g.w‘m ‘_ stroﬁg and

foxa
- \»,'», _‘

£ Sy

(b) Whatis subnettmg? vaen the class C nehmi" 0 use. fh_ \

(1) What is the nu;mber of subneta’arcat

.;'\‘

*\ ot

w0t
RN et g
b -~

-

Wﬁ N

s

(ii) Bluetooth Arc:l:ﬂl;@‘éttl:geT

(iii) Border Gatewa}( Protoc

AGEOASODRFQTIBCT52FTDST86E9113D2
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Loy | o 7] crsus 0S
QP CODE : 581101

(3 Hours) Total Marks : 80
N.B. 1.Q.no.l1is compulsory -
2. Attempt any three out of the remaining five questions
3. Figures to right indicate full marks
4. Assume suitable data if necessary but justify the same

Q.1.  Attempt the following (Any four)

a. Compare the monolithic and microkernals {5}
b. Explain the Internal and External Fragmentation [51
¢. What is mutual exclusion? Explain its significance (5]
d. What is.a semaphore? Elaborate with example, the significance of semaphores £51
e. Explain the effect of page size on performance of Operating System {5}

Q.2. a. Calculate hit and miss for the following string using page replacement policies — FIFO,
LRU and Optimal. Compare it for the frame size 3 & 4.

1232152162563 1361 243 ~[10}
b. What is a deadlock? Explain the necessary and sufficient conditions for the deadlock.
Also suggest techniques to avoid deadlocks. [10]
Q3. a Explain an algorithm for dining phik)sophers problem [10]
b. Explain the banker’s algorithm in detail. [10]
Q. 4. a. Explain the hardware support for paging {10]
b. Assume the following processes arrive for execution at the time indicated and the length
of cpu burst time given in msec. [10]
Job Burst time Priority | Arrival time
Pl 10 5 ¢
P2 6 2 0
P3 7 _ 4 1
P4 4 | 1 1
P5 5 3 2

For the above process parameters, find average waiting times and average turnaround times for the
following scheduling algorithms- First Come First Serve, Shortest Job First, non preemptive
priority Round Robin (assume quantum=5 units)

Q.5. a Explainthe Iﬁrocess transition diagram for UNIX operating system f101
b. Compare the following Disk scheduling algoﬁthms using appropriate example- SSTF,

FCFS, SCAN, C-SCAN, LOOK {10

Q.6. Write notes on the following: [20]

a. Resource Allocation Graph

b. Process Control Block

¢. System Components in Windows Architecture
d. Scheduling in Linux system

ek hh R R TR R R
DFSSBchF BDDCTU3193679392A79228E







~~  Belsem YIL Cova Ccaac,-) Dsp-

(3 hours) .

. N.B. 1. Question No, 1 is compulsory
2. Attempt any three out of remaining .
3. Assume suitable data if mecessary and _;usﬂfg‘iﬁg@sswﬁpnbns
4. Figures to the right indicate full marks =y

Q1 A Compare IR systems thh FIR systems.,""

u

1\‘\1 \

“Qng; ¥

justification. - ,;*ﬂ-‘::-'- \;g, .

Ifx[n]={1,2,2,1,3, 1}1saper1
i)x [-n] 1i)x [n-2] i
D State BIBO stability criterioglfe
- ‘p’ and *q’ for the _s'tabiig'@ﬁ £
: g

R
‘w ».“-\, M
\\‘iﬁmn}’izcu ﬁi:«yep}a%mat:g

o SR

SR ()] oS (ndmi
% ejfgzmxl C.dh L ol v

Q2 A Check whether thggys ) 10
i} Static or D &
11} Linear or n—lme*aﬁ:»
16
Q3 i ‘ﬁusmg time domain method 10
] + 4 §[n-2] and
6{ .\ \\»
3 Ifa con\thuﬁus uiqe s; ‘bx )= s (ggo #720006) + 2 sin 2z % 1000t) is 10
xsampleii at. SQOD*«sa?npiQ?lgecﬁFu;d“qut the 4-point DFT of it. Sketch the phase
“anid magitudk
Edplain oF DI 10
Giput gpnvolut@@ofme Causel sequences xfn] = {2,3,1,-4.3,2,4,-1} 10

o~

< .}23\1,5111 “Ycer save method.

[TURN OVER]
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A

4 Explain the signiﬂcﬁnce of.CarL

If the DFT of x[n} is X (k) {2 -13 0,33} us
i) DFT ofx[n-2] - '
ii) Signal energy
iii) DFT of x*[n}
iv) DFT of % [n]
v} DFT of x[-n]

'am1£10n & n?a .634 omt

i H\\« e

4E21DEFBID6DC36590CFF39BET0CBCFD



Corrp ) SernVIL [ es¢s] Cs s
QP Code:811500

3 hrs. ' 80 marks

Note: 1. Question 1 is compulsory.
2. Aftempt any 3 questions out of the rest.
3. Make suitable assumptions whenever necessary and justify them
4. Each question carries equal marks. '

. QL

a) Use the Play fair cipher with the keyword : “MEDICINE” to encipher )

‘ the message “The greatest wealth is health”.
b)  Explainkey rings in PGP. (5)
) Briefly define idea behind RSA and also explain o

1)  -Whatis the one way function in this system?
2) What is the trap door in this? :

3) Give Public key and Private Key.

4) Describe security,in this system.

Q2)a) Explain DES, detailing the Feistel structure and S-block design (10)
b) Consider a Voter data management system in E-voting system with sensitive and (10)
non-sensitive attributes.
1) Show with sample queries how attacks ( Direct, Inference)
are possible on such data sets
2Y Suggest 2 different ways to mitigate the problem.

Q3) '
a) Explain Diffie-Hellman Key exchange algorithm with suitable example. (10)

Also explain the problem of MIM aitack init _
b) What are Denial of Service atiacks? Explain any three types of DOS (10)
attacks in detail

Q4 -

a) IPSec offers security at n/w layer. What is the need of SSL? (10)
Explain the services of SSL protocol? '

b) What are the types of Srewalls? How are firewalls different from DS , (10

Q 5)a) What are the various ways in which public key distribution is implemented. {10)
Explain the working of public key certificates clearly detailing the role

of certificate authority. .
b) Why are Digital Signatures & Digital certificates required? What is the significance (10)
of Dual Signature.

Q6  Attemptany 4 : 20)

)  SHA-1

b) Timing and Storage Covert Channel
¢)  Session Hijacking and Spoofing

d) Blowfish

) SMIME

AG770F26CF24EETTE6BIS8CAE1974F90






T4527/T1308 ARTIFICIAL INTELLIGENCE

Se VI - Ceom P
Q. P. Code : 811600

(3 Hours) Total Marks : 80

N.B. 1. Question No. 1 is compulsory
2. Attempt any three (3) out of remaining five (5) questions
3. Assume suitable data if necessary and justify the assumptions
4, Fagures to the right indicate full marks

Q1 Attempt an four (4) from the following
[A] Define AI. What are applications of AI? [05]
[B] Define heuristic function. Give an example heuristics function for 8- [05]
puzzle problem.. Find the heuristics value for a particular state of the
, Blocks World Problem. ‘
[C] Compare Model based Agent with Utility based Agent. [05]
[D] What are the problems/fiustrations that occur in hill climbing - [05]

technique? Iustrate with an example -
[E]  What is-supervised learning and unsupervised leammg’? Give example  [05)
of each.

Q2 [A] Consider the search problem below with start state § and goal state G, The [10]
transition ¢osts are next to the edges and the heuristic values are next to the
states. What is the final cost using A * search,

{B] Explam the architecture of Expert System. What are advantages and - [10]
limitations of Expert System?

Q3 [A] Explain with example various uninformed search techniques. [10}
[B] Ilustrate Forward chaining and backward chaining in propositional logic with  [10]
example

[TURN OVER]

879ABY848BCAT4B209B152B50RIFOFD




Q4 [A]

(B]

Q5 [A]

(Bl

Q6

T4527 /11308 ARTIFICIAL INTELLIGENCE

2 Q. P. Code : 811600

Apply alpha-Beta pruning on following example considering first node as [10]
MAX

Explain a partial order planner with an.example, _ £10]

Consider the following facts about dolphins: [10]

- Whoever can read is literate. Dolphing are not literate. Some dolphins are

intelligent,

(i) Represent the above sentences in first order predicate logic (F OPL)
(if) Convert them to clause form
(iii)Prove that “Somie who are Iutelligent cannot read” using

resolution technique
What is Uncertainty? Explain Bayesian Network w1th example £10]
© Write short note on any two of the following: [20]

(i) Stepsin Natural Language Processing
{ii} Decision Tree Algorithm with an example

(iv) Genetic Algorithins

7879AB9848BCA74B209B152B5081F0FD




T4527/T1313 B.E(COMPUTER ENGG)(SEM VII} (CBSGS) 5)SOFT COMPU ]

(3 Hours )

N.B.: (1) Question No.1 is compulsory.

1. (@ Explain hard limit and soft limit activatioft functlon
(b) Explain Mc Culloch Pitts neuron mo@eik ‘
(¢) Explain fuzzy extension principle with
(d) Explain linear separable and non-linearly s
2. (@) What is learning in neural ne 10
~ unsupervised learning.
(b) What are the different typ
of GA. Explain each typ ‘

10

10
10

10

10

20

092EF8E177DDIGEBEZTICFD3C5497878






T4527/T1312 B.E(COMPUTER ENGG)(SEM VII) (CBSGS) 4) SOFTWARE ARCEHTECT

(3 Hours )

092EF8E177DDYGERE279CFD3C55B8F94
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(3 Hours)

N.B.: (1) Question no. 1 is compulsory
(2) Attempt any three from the remaining.
(3) Assume suitable data.

(a) OneTime queries
(b) Continuous Que_u‘e‘s
(c) Pre-defined queii

;h: gical architecture. 10

10

10
5
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from content based recommendation systems ? 7
(b) What are Combiners? When Should one use combin
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: QP Code : 11996

: ~ (3 Hours)
i o ‘ “ Ll ‘ Total Marks: 80
N.B.: (1) Question No.1 is compuisory.

(2) Attempt any three questions from the remaining five questions.

(3) Make suitable assumptions wherever necessary but justify your assumptions.

1. (=) What is incident 'resﬁonse? Explain goals of incident response. 05

' (b) Explain the term Cyber terrorism with examples, 05

{c) What is Evidence? Explain the types of Evidence. - | ‘ 05

R (d) What is DOS attack? How to achieve recovery from DOS attack? | 05
2, (a) Explain volatile data collection procedure for Windows system, 10

(b) What are possible investigation phase carried out in Data Collection and Analysis. 10

3. {a) Explain-lncident Responsé Methodology in detail. 10
(b) What are the steps involved in .comp_uier evidence handling? Explain in detail. 10

4, {(a) Explain importance of forensic duplication and its methods. 10
(b) Describe levels of culpability. | _ 10

5. (a) Explain various ethical issues concern in computer forensics. 10
(b) How you will trace the crime which has been happened through email using tool. 10

6. Write a short note on . ‘ .20

(1) NTFS Disk

(2) Laws related to computer forensic

C2DF5C445B501E99B5 1 TESCI2BD3FCRY
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(3 Hours)

N.B.: (1) Question no. 1 is compulsory
' (2) Attempt any three from the remammg,
(3) Assume suitable data.

(b) Explain Page Rank with Example. Can
are its chances of Decreasing? _
(¢) Explain Hubs and Authorities withne

[TURN OVER]
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from content based recommendation systems ?
(b} Whatare Combiners? When Should one use combig
~ (c) How to count distinct elements in a stream? Expla"‘ )F

dendrogram . ;
(b) Consider a Portion of Web Graph Sh(_’.;W- 1
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QP Code : 11996

(3 Hours)
o : e Total Marks: 80
N.B.: (1) Question No.1 is compulsory.

(2) Attempt any three questions from the remaining five questions.
(3) Make suitable assumptions wherever necessary but justify your assumptions.

1. (a) What is incident response? Explain goals of incident response. : 05

' (b) Explain the term Cyber terrorism with examples. 035
{c) What is Evidence? Explain the types of Evidence. - ' ‘ 05

{(d) What is DOS attack? How to achieve recovery from DOS attack? _ 05

2, (a) Explain volatile data collection procedure for Windows system. 10

(b) What are possible investigation phase carried out in Data Collection and Analysis. 10

3. (a) Explainhcident Response Methodology in detail. 10
(b) What are the steps involved in computer evidence handling? Expié‘in in detail, 10.

4. (a) Explain importance of forensic duplication and its methods, 10
{b) Desecribe levels of culpability. 10

5. (&) Explain various ethical issues concern in computer forensics. 19
(b) How you will trace the crime which has been happened through email using tool. 10

6. Write a short note on , 20

(1) NTFS Disk

(2) Laws related to computer forensic
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Time: 3 Hours
Note: 1. Question 1 is compulsory
2. Answer any three out of remaining questidns.

Q! A) What is dimensional modelimg? Des:gn the data warehous for'w]

needs to analyse: The furniture wrth respect to
customers with respect to their spatial locat
regions and states. The company is mterested
discount of its sales.

B) Discuss different steps involved in Data.

Q2 A)

1y computer
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ii] List strong association rules, .
Transaction _Id Itemhsg?i
o0 :

02
03
04
05
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